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Q. 1 The retirement provisions of a country are primarily provided by employer sponsored 
defined benefit pension schemes. Regulations are in place to ensure that each defined 
scheme is funded and trustees are appointed to monitor the well-being of the scheme. 
To strengthen the role of the trustees the regulator is considering introducing a new set 
of regulations which include the following: “Trustees should form an objective 
assessment of the sponsor’s covenant.”  

  
a) Define the term “sponsor’s covenant”. (1) 

   
b) Outline the broad issues regarding the sponsor and the business environment that 

should be taken into account by the trustees while forming their opinion on “sponsor’s 
covenant”. (5) 

   
c) List the circumstances under which “sponsor’s covenant” need not be considered. (2) 

   
d) Discuss the advantages and disadvantages of introducing a new regulation on the 

requirement to assess “sponsor’s covenant”.  (2) 
  [10] 
  
Q.2 In a developing country, currently the defined benefit occupational pension schemes 

offer a number of options to the scheme members. A large multinational company has 
recently started its operation in the country and is planning to set up an occupational 
pension scheme for its employees. The company is considering a list of options to 
incorporate in its pension scheme. 

  
a) List the options which are generally available to occupational pension scheme 

members. (4 ) 
   

b) Outline the factors that should be taken into account while setting the terms of any 
option. (6) 

   
c) In particular for cash commutation of pension, the company is planning to use a 

variable interest rate instead of a fixed interest rate to calculate the lump-sum payment. 
Discuss the merits and de-merits of the proposed approach. (5) 

  [15] 
   
Q.3 A medium-sized manufacturing company had set up a non-contributory final salary 

pension scheme for its employees 3 years ago. The pension scheme is primarily 
designed to provide pensions at retirement for its members. Benefits also include a 
lump sum death benefit on death in service. When the scheme was set up members 
were not given any entitlement to benefits in respect of service prior to that date. 

  
 Regulatory rules require that valuation of the scheme is carried out once in three years. 

Accordingly, the scheme actuary has recently carried out the second valuation of the 
scheme. The assumptions used for the current valuation were exactly the same as that 
used in the previous valuation. The results of the current valuation indicate that there is 
a small surplus of assets over the actuarial liabilities. 
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 Over the entire duration of the existence of the scheme, the company has contributed in 
line with the Standard Contribution Rate. 

  
a) Define the Standard Contribution Rate for each of the following valuation methods: 

 ( i )       Attained Age Method 
 ( ii )      Entry Age Method. (2) 
   

b) For each of the methods set out above, explain how the Standard Contribution Rate 
and the Modified Contribution Rate would have been expected to move in comparison 
with the initial rates, if the experience in the inter-valuation period turned out to be in 
line with the valuation assumptions and the same method was used at both valuation. (4) 

   
c) If both valuations were carried out using Attained Age Method, list the principal 

sources of surplus and discuss, for each source, how the actual experience could have 
given rise to the surplus. (5) 

   
d) The Finance Director of the company has suggested that the Current Unit method be 

used to fund the scheme as this would result in the lowest contribution requirement for 
the company. Outline the issues that should be considered before this suggestion is 
implemented. (4) 

  [15] 
   
Q.4 The Government of a developed country provides two tiers of State pension. The 

primary tier is a flat rate of pension, also called Basic State Pension (BSP), available to 
every citizen above the State Retirement Age (SRA) of 60. The second tier is a means-
tested benefit, also called the Minimum Income Guarantee (MIG), and is targeted to 
the most needy above the SRA. 

  
 The current average earning per annum is 500. The BSP is set at a level of 50 and MIG 

makes additional payment, if required, to ensure that each individual above SRA is 
entitled to a total annual income of 100. The BSP and MIG are linked to the price 
inflation which is currently at 5% while the earnings inflation is also at 5%. 

  
 Consider two individuals A and B both currently aged 20 and recently been employed. 

The annual salary of A is 1,000 while that of B is 250. Both make additional 
contributions of 5% of their salary to private pension arrangements which provide 
investment return of 5% per annum. At retirement the accumulated fund will be 
converted to an annuity increasing in line with price inflation. 

  
a) List the advantages and disadvantages of means-tested benefits. (4) 
b) Assuming that on average 20 year olds in the country lives up to an age of 80, 

calculate the amount of retirement income for both these individuals at SRA, showing 
the split between BSP, MIG and the private pension arrangement.  Indicate any 
assumptions you make. (5) 

c) Comment on your findings in part (b). (1) 
  [10] 

Page 3 of 5 
 



ASI                                                                                   ST4 0507 
 

  
Q.5  

a) Define the following terms in the context of arriving at actuarial liability of a Defined 
Benefit Pension scheme; 

  
 i) Current Unit Method (1) 
 ii) Projected Unit Method (1) 
 iii) Defined accrued Benefit Method (3) 
  

b) Define the following in the context of a Pension Scheme; 
  
 i) Control Period. (1) 
 ii) Actuarial Surplus (1) 
 iii) Vested Rights (1) 
 iv) Valuation rate of interest (2) 
 v) Terminal Funding (1) 
 vi) Replacement rate (1) 
 vii) Pension Equity Scheme (2) 
  [14] 
  
Q.6 In the context of financing employee benefits, answer the following; 
  

i.) The advantages of Pay-as-you-go (PAYG) approach (2) 
ii.) The concept of smoothed PAYG and they it can operate (3) 

iii.) Book reserving including issues relating to security of benefits, from members’ 
perspective and the manner in which “Third Party Guarantees” can operate to enhance 
the security for the members. (8) 

  [13] 
   
Q.7 In the context of Risk Management of a Pension Scheme, answer the following; 
  

a) Suggest actions that could be taken when setting the Investment strategy to mitigate the 
investment risks of running the pension scheme. (2) 

b) The factors that affect the risk profile of a pension scheme. (3) 
c) You are the new benefit manager of the company having the Pension scheme which 

has generous non-contributory final salary scheme. Staff representatives have made it 
clear that employees are unhappy that there is a deduction of a proportion of the basic 
State pension from their scheme pension.. How might you address the problem without 
changing the benefits? (4) 

d) How would you assess the additional risk for the pension scheme if it provided a 
defined benefit promise with a defined contribution underpin? (3)

  [12]
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Q.8 You are Actuary and Investment Advisor to an Employee pension scheme. Within the 
framework of your role answer the following; 

  
a) One of the Scheme Trustee has commented that government fixed-interest bonds are 

the best investment for a final salary pension scheme because they are secure. 
Comment on this statement. (2)

b) Discuss the factors that you would consider in determining an appropriate investment 
strategy, if the scheme were defined benefit with defined contribution underpin. (3)

c) What are the main advantages of fixed-interest government bonds? (2)
d) What conditions need to be fulfilled to realise the quoted returns from indexed-linked 

bonds? (1)
e) What are the main advantages of domestic-fixed interest corporate bonds over 

government bonds? What additional risks are introduced? (3)
  [11]
  

 

************************ 
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